POSTS OF MASS INTERVIEWER IN PUBLIC HEALTH AND PREVENTIVE MEDICINE
DEPARTMENT IN TAMIL NADU PUBLIC HEALTH SUBORDINATE SERVICE
AND
SOCIAL CASE WORK EXPERT IN PRISONS & CORRECTIONAL DEPARTMENT IN
TAMIL NADU JAIL SUBORDINATE SERVICE

COMPUTER BASED TEST - 2023
PAPER- I - ECONOMICS

1. If an existing theory is falsified by new theory, it is called
Bspeiler Qmé@n em Camur® em yg Cesmum i md Qumindssiu Lo
<ips Ugl Car_umd g

(A) Experiment (B) Innovation
LR Gengener L5810
\ﬁ( Paradigm Shift (D) Methodology
CPENIEIBITYERT DTHID QA penm

(E) Answer not known
oflenm_ Ggflwsildoane

2. Truth establishment in Economics have derived in and
ways.,
Qurpafluedd 2 arrenwwiflsd eraTLg Lo MHmILD

anflsafler (1deg)) epsafier QupiLihdng:.
A) Deductive and Inductive Method
UGLUTie| wHmb CAsrEliumiiey
(B) Micro and Macro
perasiiwed whonb Cuifiwid
(C) Sampling and Non-Sampling
wrHfl womn wrfiubp
(D) Testing and Analysis
Gargemar WHDHID LEGLILTLIG]

(E) Answer not known
elent_ Ggfluiecranen
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3. Median is a

Qen_Hlenay ereitLigy

(A) Arithmetic Average
erehr sanflgs symaf

\% Positional Average

Hlenevs grref

(C) Frequently occurring value
S S aumnd iy

(D) Item which has maximum frequency
21518 aamaflsmauid aimn b

(E) Answer not known
ellenL. Gsflwelldeame

4.  The measure of variation that is least affected by extreme observation
18 i
Cprompellan  jeepeuseler serfgellar  wearumiLsemed  Wass (SDODEUTE

Lirdl&aslILHeug

(A) Range (B) Mean Deviation
aiFCgdama @ Geuaf grmefl eflevdashd

(C)y Standard Deviation m Quartile Deviation
S L eflevssid &meolores ellevdslbd

(E) Answer not known
ellen GgNwueidene

Economics 4



5.  The sum of the deviations of the items from Arithmetic mean is always

equal to .
e aareuflensulen snl B syrefluiledlmbs cuCeiamsatian elwsd gl HEsTans

v

(©

()

&(& FOOIG @) & @GD.

Zero (B) Positive

Lshalui Criroenmui e

Negative (D) Both (A) and (B)

G DLITS @eves @raw@id (A) womibd (B)

Answer not known
llep GsMweidens

6. Standard deviation is calculated from

Ve

©)

()

lmhg AL ellewssd a;&mra'sa‘ﬂl_uu@aﬂmgj:

Mean (B) Mode

gyme W&H

Median (D) Step deviation method
Glewt_Hlency Sllg Nlewds (penm

Answer not known
eflen Qg flwslldeancn
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7.  Which of the following statements are correct?
SparaTueTeudmIeT oTgl FRlLTer Fabmi

(1)  Correlation coefficient is always positive.
o e Ggm i Qaqp erti@uimipgib Criwepuins G HE@Eh

(i)  Correlation coefficient is independent of change of origin and scale.
oL et Qenfiy Qaeupeurearg, <prbulilerell  LHDID  AeTeneusefle
THMLSHET ETTTES

(i1i) Correlation coefficient cannot exceed unity.
o L e Gariy Qap eamlng Wsrg

(1v) Two independent variables are uncorrelated.
@ran® srrupy wrhssepsda_Guw o LetbgrLmy Gaoarsg

@A) (), (i), (i) vp{) (i) and (i)
@), (1), (ii) (i) wpg (i)

(C) (i), (iii) and (iv) (D) (ii) and (iv)
(1), (i) womw 1v) (1) wppn (iv)

(E) Answer not known
chlenL Gzflueildane

8.  The rank correlation coefficient was developed by
culans U (Hpeys Capames BlpsILHSS wWeT

(A) Gosset (B) Student

Camral_ G Led

\6) Spearman (D) Pearson
eulwirGioe uwsirger

(E) Answer not known
eflenL GgMwehlcvene

Economics 6



10.

11.

The value which occurs most often in the data is called

sraseiled olgssl. Haupb whHiiy Sjenp&ssILREDG.
(A) Arithmetic mean (B) Median
areigentls Frmefl G hlene
\ﬁ Mode (D) Geometric mean
s aulg ellwich sgmaf]

(I5) Answer not known
aflen Qgflwuafdena

The sum of the deviations of individual observations is zero from

satlbuT el Hisd cladssdler gl LLFHuibd =68

(A) Mode (B) Median
W6 &SHL sarey/ e Blane
(C) Geometric mean \M; Arithmetic mean
QupsE Fymel sl (& Frmai

(E) Answer not known
eflen Qg fluaierena

Given that Regression Coefficient of x on y = —0.85 and that of y on
x =-0.29. Find the Correlation Co-efficient.

y e WBsnen X e Qgmiy Cund, CriGamger Qsgp =—0.85 wHgid x ér WBsrer y
ar Qamiy Gumsg CruiGsmigen Gsup = —0.29 eaers Qer@ssiiul(Herang.
L Bpe| Gauelamar smes.

(A) 0.5 v&{ —0.5
(C) 0.67 D) -0.57

(E) Answer not known
efleni_ QgMwueiléene
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12. If the ratio of change between two variables is uniform, then the
correlation is called as :
@ranh wris@sdeoLCuurar wrHp Hsh Cr adssHd @mulbler =iz

TSSDGI 2 L& QSMLiTL] 6Tanm e p&sliLBEDS.

(A) Non-linear Correlation \A) Linear Correlation
Crflwe smyr 2L ar Ggmiyy CrNwd enifps o Ler gy

(C) Positive Correlation (D) Negative Correlation
Crflen 2 L ar Qgmfy adiflenL. oL e Ggmfr

(E) Answer not known
sllenL Qgmwelildane

13. If b, =1.6 and b,, =0.4, then the correlation co-efficient r is

b, =1.6 wogn by, =0.4, eaild 2L abgr s Qe r aeug
(A) 0.16 (B) 0.32

) 0.64 w08

(E) Answer not known
alenL GzMwaelerana

Economics 8



14.

15.

Sampling errors are present only in

gaf) erhissedldd Wenp erbs Wenw Tam TGl Gg,aﬂu@m GTEHMITEd

®
vt
©
™)

()

Complete enumeration survey
ppewITen jerbleHiriy

Sample survey

Fafml AerGleu(Biriy

Both census and sample survey
(ppenwInaT wHmIb Fam erbleuBiriy
Neither census nor sample survey
APYIDUINETHID, Fnml enbleuHLIL6He)

Answer not known .
sfilenL Qs Mwelidena

The positional measure of central tendency is
yerefl efluyb @@5@&) BILFmg eneuSHg ASHE @LWILIL|eTerlanwl Gt&rra)@]u) SlETEnGU

(A)

©)

(K)

Geometric mean SA Median

Qumse srmaf G _blenay olaTe]
Harmonic mean (D) Arithmetic mean
@anauliienL gy sl (D& syagil

Answer not known
dilen Gzflwsfldena
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16. The formula of Range and Co-efficient of range are
el wHNID ifxs Capaiien GSITD erarLig)

(A) L+ Sand é;g \,{)L—sandi—;g
@ DL—8mmi ™ (D) i — Sang =5
7-3

L— S wpmid L‘;S L— S wog ig

(E) - Answer not known
el Ggfluisevena

17. Standard Deviation is also called as

Hleneowimer etaae eremml eSS HidFEng).

(A) Mean Deviation (B) Square Deviation
gy eflesa g8 efevse

(C) Mean Square Deviation )} Root mean square Deviation
gyrafl elleasd auir&ab eqref eflss euiaslen auiss pPELD

(E) Answer not known
eflenL @gflweildbena

18. Range of the data 4, 7,8, 9, 10, 12, 13 and 17 is
Epsan yarell efleursddimba eiasfen wdiewn sraws 4, 7, 8, 9, 10, 12, 13
whmtb 17
A 4 (B) 17

VO 13 D) 21

(E) Answer not known
ellanL. @gMlwellcbana

Economics 10



19.

20.

21.

Which of the following is the type of two dimensional diagram?
Spsmem_euphled eTg G)HAPSLIL] uaTUL LD oTaT Sp&sLitRidng 2

(A) Pictograms (B) Cubes
2 _(HEUSLILIL_[BIGEHT S &uiien

(C) Blocks \A Squares
Qar@dser S| TR SHET

(E) Answer not known
allent_ Qgiflwelléaneo

In a bar diagram, 1if the total value is sub-divided into different slots it is

called as :
@@ ulel deardstiuLgiled, yerell oflur Guwrss wdiy udCam SwE@EGsTTS

U@GESUILIL g (mUibles, <oig eren anp&sliLhiEna.
) Component bar diagram (B) Multiple bar diagram
sgmuLeL eflerd&sliuL b Sal(HUur el eSleT&sLiLL b
(C) Pie diagram (D) Simple bar diagram
el L eflem&aiue b sefliuC el eflardatilL b

() Answer not known
allen_ Ggiflweidame

For a comparison between two or more related variables which bar

diagram to be preferred?

Qranh oowg 2shE GCopuli. Gam_fyeLw orlsersE el Guuwire
@USH @mEEh Gurg abs ulen. eueguib erayflenn  eflEsiuT
Geueist(piib ?

(A) Simple bar diagram \6 Multiple bar diagram
satliu’ ent efleTSErLILLD Sl RUiud enl_ efatésliuLib

(C) Percentage bar diagram (D) Pie diagram
FgeigliLl el eflerdsluL LD Ul L eflerdsliuLLb

(E) Answer not known
allen. Ggflwuaidemne
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22, is suitable for algebraic treatment.
Guhsmils eam apams e, 2 &HS5S.
) Arithmetic mean (B) Mean
gl (HFsgrad wpenm gnmafl apenm
(C) Median (D) Mode
e Bl e Ws6 e
(E) Answer not known
elen QgMweldbensy
23. Data which are not originally collected but rather obtained from
published or unpublished sources are known as
Letefl sleuprissr Crmgwurs Cesfssl LLMb®, perarCy IQU&-TﬂBS&SULJL.L. Sldog
YraflésiiuLrg Lsssbd Sdeg udiyseid @@mbs Qupliu@b Lerafl eflumb
erestar euanganls Garhag) ?
(A) Primary data (B) Duplicate data
pseeniieneols LeTafl el Gumredlwiresr Lerefl ety
Jj’- Secondary data -+ (D) Original data
GlrarLmb Hleneols yerafl eflLiid o genlowsmerlt Lerefl efluipd
(E) Answer not known

Economics

aflen GsMweldrene
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24.

25.

26.

Which of the following is not a stage in statistical investigation?
yereflufwed epichld SpsaaTeubmieT eTg @b Liiguice ?
(A) Organisation of data
LaTefl eflurhisaeT BISESD
(B) Interpretation of results
o " Gumpener GeuefliiLRiSgHe
(C) Presentation of data
cfleury aflerganaflssed
m Policy-making based on results
Qeursss LD

(E) . Answer not known
cllen Qg Mwelldveney

What is used to be tabulated in rows and columns?
erg) euflengamar wHmb GrHeiflerssales oL euamenTrILGSSILIL (HeTers) ?
% A classified data (B) Numbers

alensUURiSSILC L ST6] GTGHTSH T

(C) Words (D) Symbols
GUITTSESSET @MU Haer

(E) Answer not known
cflen Qg flwslldency

District Industries Centre (DIC) was established in

wredl L. Qgmpld ewuibd GsTL gL o6
A 1979 vﬂ)’ 1978
(C) 1980 (D) 1982

(E) Answer not known
eflenL Qg flwslldransy
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27. Konkan Railway connects
Cariser @ruid @enenTiiL]

o6
(©)

()

Roha —~ Mangalore
GrmemT — WhiSEwT

Goa — Mangalore
Cameu — LDMRISEET

Answer not known
ellenL_ @g,rﬂu_l@ﬂebeﬁ)eu

28. PNR on train ticket shows i
@nie gésind PNR eans @hsdanmen

(A)
b
©)

D)

(E)

Economics

Passenger Number Record
vwestlsefler eremr Lifle
Passenger Name Record
vwenflsefien Guwir udley
Personal Name Record
Qanpg Quuwit ufey
Personal Number Record
Qembs ereir Liflay

Answer not known
eflenL. Qgflwehldae

14

(B) Kanyakumari — Mumbai
senallwm@wll — apbent

(D) Kanyakumari — Mangalore
senafluim@gofl — LnhigEsT



29.

30.

31.

transport is a type of water transportation.

Spssamsupbled ety Breufis Cung@eursg 2

v

(€)

()

Boat (B) Bike
UL L&
Cars (D) Chariots
ST Gair

Answer not known
aflen QzMweildvena

The smallest highway by length in India is
@idureild WBss APl Ferib Qe QBHERFTM 6Tg ?

A)
©)
(1)

NH 3 NH 118
NH 50 (D) NH9

Answer not known
aflen QgMwelldanc

Mention the name of the largest Civilian Runway Airport in India.
@ndureier WaslCuflu vwesiser elwrear Hawwssea Quweny GHUGHS.

(A)
(B)
©)

v

()

Kempegowda International Airport

Qabiblsan.r sieGss cllinmen Hlenauih

Chhatrapati Shivaji Mahraj International Airport

sgydl Seursd waryrmr sieuGss eflinmear Hlapauib
Chennai International Airport

Ozcnenar FieuGss ellwmer Hleanawib

Indira Gandhi International Airport

@ ndrrenhs) sieuCss lwmen Hleneound

Answer not known
flen_ Gz flusidena

15
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32. Total number of Domestic Airports at present in India is
@niHwureles sHCUTE o eter 2 emHm(H aflwrer Hlenawniseer Gnmgg Grmﬁrmﬂesesm&;

(A) 100 (B) 101

©) 102 \pf) 103

(E) Answer not known
allenL Qzfluafcranay

33. AAI stands for
AAJ—ar efifleurdsd sms.
w Airports Authority of India
. @ bHw aSlwma Hlenaow D@ EITILILD

(B) Airports, Airports of India
@pSurellar eflrar Hleneowikiger, efiliomer blenewikiseT

(C) Airport And India
@pbSlwur womib ellorer Hleneuwiniger

(D) Authority of Airports India
@ndwumreiles 2 drar cllrer Hleapewikiseten ifamyb

(E) Answer not known
sflen GgMwelicrane
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34. State the methods to identify the poor is
JEMDEEHCT ML WITETLD STEMILD (Pemmen smis
Vé Ownership of assets and occupation
Qenggsaar wHmb Gasmded o flanw
(B) Annual Income
<2,68T(H) 6L (MLDTEITLD
(C) Savings
Galiltiy
(D) Investment
W50

(E) Answer not known
edlenL Gaflweilcvenay

35. The per day calorie estimate of poverty for rural people in India is

Syrooym LDéS.S:GﬂGiiT eumienioulilenr epan praflenr aGenfl wHIGE ereuaiearay
WA 2400 (B) 2300
(C) 2200 (D) 2100

(E} Answer not known
ellen @aflweilerana
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36. 1s not a collective dispute in an industry.
Qesreumeuameubbled argy snl (B s&FTH @dena eran Gamfibssrrdled wmpuiu@Gdmpg ?
(A) Profit sharing
@ar udliey
M Termination of an individual workman
e Uawrereny Ceuanauliladlmbg HmiSgige
(C) Compensatory and other allowances
@louSEH whmbd ¥Wp Gsr@lueareseT (Ligsar)
(D) Closure of establishment
Hlmieuard eprcd

(E) Answer not known
elen. Ggflwelildena

37. Poverty can be defined as a in which a section of the society
is unable to fulfill even its basic necessities of life.
aumie e uarUeD SEd @ LGH Fapsbd Ws WSS
Coemeuseanar sl Fhilss plgeidareana.
(A) Scientific Phenomena v{) Social Phenomena
aflgrepren Habay sapa Hlaspey
(C) Political Phenomena (D) Economic Phenomena
SArSlwe Flshey Qurerrgmy Hape

(E) Answer not known
cllenL Gasfweidaa
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38. Arrange the correct sequence of the given Poverty Alleviation

39.

Programmes launched by the government.
aumienn LIS risamer auflenstiLibhsH QummSsHs :

(a) Rural Employment Generation 1. 1997
Programme
Srmoiigp Ceusne eumiitigE L ib 1997
(b) Jawahar Gram Samridhi Yojana 2. 1995
smeuan( ggmd Fwifld Cuirgernt 19956
(¢) Prime Minister’s Rozgar Yojana 3. 1999
Gysw wipdf Crugai Guirsgert 1999
(d) Swarna Jayanti Shahari Rozgar 4. 1993
Yojana

eveuiienr Qeuipd agenmll Gyrget Guirse 1993

@ 0 @© @@

\,6234

1
B 2 3 1 4
© 1 4 3 2
m 1 2 3 4

(E) Answer not known
eflen Ggilwselidena

The TRYSEM (The Scheme of Training Rural Youth for Self
Employment) was merged into Swarnajayanti Gram Swarozgar Yojana
in the year
(TRYSEM) flgmo @levenesiisenssnar sw Geusmaeumiiliy uudnd b, eve e
Qewipd fymb eveugmai Gumsmearn (SGSY) e Geissliul L s
(A) 1979 - (B) 1989

\ed 1999 (D) 2009

(E) Answer not known
cllen Qg flwelldena

19 Economics
[Turn over



40. Population Geography is a branch of
wéaer Gerans Lalluilwud erhg 1GMey <@ Lb.

(A) Settlement Geography (B) Cultural Geography
G4Cwhm yelludiwed seorEeny Lefluilwen
M Human Geography (D) Physical Geography
wefls Leilufwied GuaBlane Lalludiwied

(E) Answer not known
cllenL. Gsflweidana

41. Most populous state in India at present is
@pSwreller fls wEsr Agrens o drer WBleb 6T ?

\A Madhya Pradesh (B) Tamil Nadu
wgHwu GrGssan S8IHETH
(C) Gujarat (D) Kerala
GBS Caiyerm

(E) Answer not known
sflen Qg fluaildena

42. “A country is poor because it is poor”. Who stated this?

“@m Bl gmpurl Quméddang. gCaeamrd =g gpenuls Gmaddameg”
@sean Fhlueur wmr?

(A) Singer \eﬂ Nurkse
Seat [Blig e

(C) Hicks (D) Myrdal
gl e SNLDITL_ITED

(E) Answer not known
shlenL @z Mwelldvancy
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43.

44.

The Main remedy for controlling population growth is :
w&seT Ggres eueridSllaear s QUUBSGsHET (pohdwu Heiryen eufleiens
GTGOTGHI 2
(A) The advertisement
allembuyLb
(B) The social awareness
geps it jamriiay
\A The family planning programme
GHbUS sU.HUum_Bs Sb
(D) Government rules
2iyélan oflglaer

(E) Answer not known
cfenL Ggflwelidene

Which one of the following is a agro based industry in India?
Spssam_eupmieT aThG eetm @bduirele Geuernasr #mibs Camyen?
(A) Cement Industry
SQwedm_ Clgmbled
M Sugar Industry
shisseny Cgmdld
(C) Iron and Steel Industry
BlpbL WHMILD 6@ Cgmfla
(D) Information Technology Industry
saeued Qgmdlamr us Gamblea

(E) Answer not known
cllent_. Gsilwshldena
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45. In India 100 percent Foreign Direct Investment (FDI) is permitted to

@hSumeid 100 gseis @pbu GCorg @sd® S@wdlssiul Herer o HLss

Hlmiaierid :

(A) Manufacturing of gun powder
guursd Ceug wmpa 2 Husd

\ﬁg{ Manufacturing of medical devices

ID(hSSIE1 FTHETEGET 2 HLsH

(C) Manufacturing of alcoholic drinks
(0F) LITEBIGET Gwimflhse

(D) Manufacturing of Chemicals
@U'&rrwsmb 2 HLsH -

(E) Answer not known

elenL_ Gaflweildemen

46. National Population policy 2000 was announced on .

Caflw wiser Qsranss AaTdrans 2000 Siem SiMellGsiur Lg).
M 15t February 2000 (B) 18tk February 2000
Guigeuf 15, 2000 @ugeu 18, 2000
(C) 1st March 2000 (D) 15t March 2000
wmrré 1, 2000 wrrg 15, 2000
(E) Answer not known

Economics

cflen QgMweildama
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47, year International Monetary Fund (IMF) implemented its
Second Amendment relating to Special Drawing Rights (SDR).

et uerenml (R ueebldl (merert) Aptiguldumser o flemw

(eT6MIg <2y T) G mirLimesr HET @)y meug) (lFwie D EHHNG

peoL(panplLhisSug).
1978 (B) 1935
(C) 1925 (D) 1988

(E) Answer not known
aflenL Ggflweiicvency

48. United Nations Conference on Trade and Development was first held in
the year _- \ » ®
;&AL prHsar meauilen aufsssd wHmb eueriéd @Ghlss IETEH pser sl
B QUbm euBLLD

(A) 1974 wff 1964
(C) 1985 (D) 1997

(E) Answer not known
eflenL Ggflueidane
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49. Which of the following is not the objective of the International Monetary
Fund?

“ereupeuareupilar erg sieuGse prantw BlHwsHler GHls&Camer =evea ?
(A) To promote internation monetary cooperation
FieuCse BremTw esgiempliieanen sad@aNssHeh
(B) To ensure balanced international trade
goflenownar sTaCss euissasms 2 niF Geliged
(C) To ensure exchange rate stability
uflbrhy g dudlrssarenwenw 2 Mgl Qaised
w To provide loan to private sectors
SNWMT FIODEEG SL_6T GULPEIES6

(E) Answer not known
aflenL Qg flwelildena
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50. Match the following:

51.

Qummssis
Tist I
(a) IMF
veretm_(HiLs uent Hldwib
(b) ASEAN
Qasnsrélu prhsafler sl L el
() WTO
2 & GUISHS SEILOLILY
(d) UNCTAD
cumenflLIbd WHMID eueTTFs e men

@S Brhseter wmpmh

@ GO ©© O
A 1 2 3

4
B’ 2 4 1 3
© 4 3 2 1
™ 2 1 3 4

(E) Answer not known
slilenL. Gz fweildena

Last II
1995
1995
1945
1945
1964
1964
1967

1967

The “Father” of United Nations Conference on Trade and Development

(UNCTAD) was

osfw prisdr smulen aigss wHmb Cubunk bsrer wrerh (UNCTAD) @gér

“‘Q'.,ﬁ')@’)g)”
(A) Robert McNamara
JIUTL. ID&BTDTFT
(C) V. Thonat
afl. Ggmpr

(E) Answer not known
cllent Qg flweildane

25

\A Raul Prebisch

greyed Limeiy

(D) Wassily Leontief
cumdledl SlGuwimetiTig Ly
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52. International Finance Corporation (IFC) was established in
Lere @ Hif swsb (IFC) Qsrimsiiul L e

\A July — 1956 (B) August — 1956

soeney — 1956 s — 1956

(C) September — 1956 (D) October — 1956
Qaci_bur — 1956 2&GLmur — 1956

() Answer not known
eflenL Qgilweilcena

53. The European Monetary Union (EMU) was established in the year

EMU Qgm_msiin L oyer® eig?

\ﬁ() March — 1979 (B) July — 1989
wmrirg — 1979 sg9ane — 1989

(C) May-1979 (D) June — 1989

Gw — 1979 sgogit — 1989

(E) Answer not known
ellenL Ggfwueicane
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54. Which of the following statement about IBRD 1s correct?

55.

ueren (B yergennri  wpod  Guoourt B eidl (IBRD) updlu  Qemeumd
gapmseiley erg sflwimang ?

M The members of the IMF are the members of the IBRD

uearm_(p uewt fHwsder 2 mnfarnisdar IBRD -6 o mrnQeniaer
(B) The IBRD has 98 members
IBRD—& 98 o gunlenirser o dremanit
(C) IBRD extends short-term assistance to members
IBRD geugy o mnQanisense gpdu sio sLdn 2 gelsmern eupki@ing
(D) Assistance to member countries achieve balance of payment
equilibrium ¥ ;
eurerflug  Clegugg  BHlevaoulldy FoBlepwerul LW 2 ity BIHGEHSES
2 HaUFD
(E) Answer not known
cilen Qgflweildena

In which year, the Government of India devalued the currency twice in
quick succession?

@i srErEsDd ‘L wHUIL G@DHS aET6H
(A) 1956 fo 1991
(C) 1976 (D) 1986

(E) Answer not known
sflen Qg iflweldena
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56. Special Drawing Rights (SDRs) also known as the
fApliy erhiliy o flepbser @elaurm Siepnébsiiubeug)
(A) Quotas ) Paper Gold
LIBIGETEY & 6T sMEgE SRS
(G IMF (D) IBRD
IMF IBRD
(E) Answer not known
eflen @z flwueierana
57. Taxes that are imposed to neutralise the negative effects of subsidies are

known as

wreflwbisehien G@r‘nbcmr[pu_lrrem eflenarasmenar &Ln(rﬂsmuuu(ﬂg‘é_ﬁ cfll&sLIL i cuflser

ereueumm Siluiu@Epgl

(A) Conventional tariff
QULDSELDTEN FalGeUTL L i1g WD
(C) Customs duty
Fmig el
(E) Answer not known

cflen Ggfwslierency

Economics
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(B) Minimum tariff

GODESULSF &h& il iguied

Countervailing duty
erdlirellenan euifl



58.

59.

The Currency Board Arrangement refers to a system where
IBTEnemNLl &L JHLTHI&ET erein (penmuiled

(A)

v

©)

D)

(1)

Currency is issued by a group of Banks
cuidlaaflen @upeured prewnub Geuaflulhigea

The quantum of currency issued is limited to the extent of the
foreign exchange reserves of the country

Brigen bblu  Geomreamil  @Qupulne  s@ehsrh  Gumd  prewnwld
GleuafiudiBHised

There 1s no Central Bank of the country

el eumdl, By Bdaa

Currency of another country circulates as the sole legal tender

WHm B g6 g)nénmmm (Dibavg)) LiGmTth &Gy &l'_l_(gosmg)‘uamrmrras L]ggésasg,g]d)
all(Reugy

Answer not known

cllenL Qg fusildana

‘The fluctuations of ciurrent account deficits and surpluses are called
bLOLSG sansdear oufl bhyd ubhpréEeon ghp @DéES WwrHoRsE E)eusum
SDPE&ELILHS DS

Global Imbalances (B) Regional Imbalances

2 agerrell Cughlane eul Ly Gugblene
(C) Mutual Imbalances (D) Savings Imbalances

ugevuy Cusiblana Caulliiy Gughlenay
(E) Answer not known

e Ggflwslldene
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60. Which country organised International Gold Standard in the
19th century?

19-1b
(A)

©

()

BIhmraTiged Listerm (B Gumen Sl L Sens uphdlaatss B g ?

Germany (B) France

Qepitoefl Qlyreig:

Holland w{ Both (A) and (B)
apreps A) uo, (B) uw

Answer not known
ellen. Ggflueidane

61. - In International trade, under gold standard system, a country can bring

LigTeTrL_ () Gu.rrmﬂugﬁcb g Gardrens Sl gSHear Sp @ Brlgd Carard

euiLi(helg)
) Exchange control (B) Monetary control
wrHm &g sUGUTH LientéQaEmerans &L BLIm6
(C) Fiscal control (D) Trade control
Hidls Usmetens sl QU@ aurenilu sU_Hum

()

Answer not known
elen Qgflweildene

62. Which factor did David Ricardo referred in his Doctrine of Comparative
Cost Theory?
AssmGLT Ul @ Gswa Carum nd obg 2 pusSH srrent 2 drerg ?

W

(®)

()

Economics

Labour (B) Land
2 anpliy Hleoth
Capital (D) None of these
Gie crgla|ib Geana

Answer not known
alen GgMuiailcrane
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63.

64.

Who made a vigorous attack on protectionism and supported Free trade
in International trade?

vere_ (R aurenflu  Qandrensuiies  seniulder ereilu  FTIHS SHHEGMS
shenwwns adliss Qunmallud oidlest?

(A) Ricardo (B) Marshall
feamiGm LOTTEIHeD

(C) Malthus 7 Adam Smith
LDTEDS 6L L b el

(E) Answer not known
eten Qg flweidene

Which of the following is false regarding the nature of international
trade?
giaCss euneniiugdler @uieyssearenouiled erg seumsOTs: 2 @rarg) ?
(A) Factors mobility
2 Hugdsé smreflseticn @uikig serann

(B) Different ndtiens
ueGeumuil L BrHiaer

Same currencies only
@Gy uewTd LI {HLb

(D) Variation in transport costs
udGaumu L GUrs@EGaTSEEF CFwae|ser

(E) Answer not known
cflenL Ggmweildens
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65. The Hecksher Ohlin International trade theory explain richness in factor
endowment in terms of
Qandesr — galafler uaarm @ eeaflas Csriumiged srpamll wdinder Gladliy
THE epeld THFFHIMTESILHEDE 2

) Factor prices (B) Factors of Production
gnyent eflanengerr 2 Hugd sryenilser
(C) Factors of Supply (D) Factors of Demand
<efltiy sryentlser Coeneu amyemtlser

(E) Answer not known
cflenL Gz Mweidene

66. The organisation of Petroleum Exporting Tountries (OPEU) was

established in the year i
QuirGrrer  epmod  prpsefler  oewiy (OPEC) ———  gamge
Bmeaiuc L g
\cf() 1960 B) 1970
(C) 1986 (D) 1981
(E) Answer not known
sflenL Gsflweidene
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67. Which of the two factors are in the Hecksher — Ohlin Theory?
Oemsagi — gedlaiar Garlum_gd @ bbumb @rar® 2 hLsd sryeanisd

(A) Capital and Land
W& whHmb Hleb

(B) Labour and Organisation
2 @Il WHMID HeHDLIL]
Capital and Labour
(P& WDHMID 2 GNLPLIL

(D) Labour and Land
2 eniptiL] whHoibd Hletb

. {E) Answer not known
cllemL. QgMuictdene
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68.

Economics

According to Ricardian theory of Comparative advantage is
M&smiCLr gapmiiLlg Ui ) pestenn Gamim(

@)
(11)
(iif)
(iv)
(4)
®)
V.4
(D)

(E)

There are only two countries

Gre® Brhser

They produce the same two commodities
@iyt Gurgplser b G 2 pusd etuRidng
Labour is the only factor of productivity

o anpliy wl HiCw 2 pusH Sp@isE sarsdle ahsalubhdng
The supply of labour is unchanged

2 applillen efllide wrppifldene

(1) and (11) are true

(1) whmib (11) &M

(111) and (iv) are true

(ii1) omomib (V) sl

(1), (11), (111) and (v) are true

@, (1), (1) wppud 1v) &

None of the above

Cwle 2 dretenausailey erancuyLoléaney

Answer not known
eflen Qsilwueicrena
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69.

Arrange 1in Chronological order:
SpsaaTLalpenn srwapeplilg aflasiiu@idgis.
(1) Hecksher Ohlin theory of International Trade.
Qamsai gedlemr Lararm_(H eurenilug Gam L@
(2) J.S. Mill’s theory of Reciprocal demand.
Gsn.are. evedler uflinrpms Csamens Cam Ui
(3) Ricardo’s Comparative Cost theory.
MNésTiCLTaler USe hiF Qeoway Gamum
(4) Adam Smith’s absolute advantage theory
<pL_1bed FHLSGHen ap(p Hewes Camc_ump
. \A{)' (4), (3), (2), (1) : (B) 3), @), 1), (1)
© @), 2), 4D, 3) D) (1), (2), (3), 1)
(E) Answer not known
clilen Qg flweicranen
Theory of Factor Pricing is included in the division of

70.

o Hugdl snyeaflaatier eflane Hlitenmn Camur@® erindflalled @LLDQUQJBE]H)@

(A) Macro Economics VBfMlcro Economics
Cuilwé Qurgserngmyid perasiwue Qurgharmsmyid
(C) Welfare Economics (D) Fiscal Economics
BeoCl @ LmmeTTSErLD Bl Qummerrgmyid

(E) Answer not known
cllent Qaflweiidenc
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71. Real wage is

2 GRTENLDE Fonedl GTETLIG

M Measured in terms of goods and services it will purchase

245l cumiigd  GQumgplser  wHmib ueeflsatlesr g liLenLuled
gleredl LR Smg

(B) Wage in terms of Money
Lertgdler ol uiled serdluib

(C) Economic levels
QUTERATTSIT BjeTey

(D) Consumer goods and demand
H&TCeurt QU@ ser whmib Caame

(E) Answer not known
sflenL Ggilueiideme

72. The market period supply curve of a perishable commodity is perfectly

S(PGSLD Gu.rr@mas@ésasrrm, Shsny sre efliy Car® wwgb

<D (GHLD.
(A) Elastic (B) Adjustable
Qp&lpe|enLi afl Qetig Qaranensed
) Inelastic (D) Stable
Cp&lpeunm Hlepevwimen

(E) Answer not known
alilen Gsfuieiecrena
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73. In perfect competition the supplier has to make the supply guided by

Benmays Cumiigs spenguiledr ailpueuflear efliy e Hisd

Qup LweTLHieg).

(A)

VO

(E)

Custom (B) Government Regulations
ULP&HE QiLNGEHIGET | JFMHEIGS SLHULTHSET
Price (D) Consumer

allenew w&iGaumit

Answer not known
cllenL Ggilwelldeane

‘74. 'The cost that cannot be recovered, it 1s called a
Hepbu Qup piguing HdFwe| @sener SenpLILIg

v
©

(1)

Sunk Cost (B) Direct Cost
L@ CFaay Crirps GCawey
Indirect Cost (D) Money Cost
DS baamay veré Caeey

Answer not known
citen Qgilweildeans
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75. The Marginal Rate of Substitution (MRS) is the
G onHblane LHSLE cldsb erar g

(A)

(B)

D)

(K)

Rate of exchange between single units of goods X and Y which are
equally preferred.

X, Y odwu sofleoadeo Gaariuupn Qurklsensda il
@heopssmby Ufaissmenr elldlgh

Rate of exchange between more units of goods X and Y which are
equally preferred.

X, Y gdu sofleowled Ceuar tu@b GQurmls@Esse Seiubaorer
LGeuny sams@psaran ufleurssenear oldlgh

Rate of exchange between some units of goods X and Y which are
equally preferred. -

X, Y 9w sofeotéd Gaaiiupn Qurmlsersdarulorar Andla
gapp WNeurssenar clldlgid

Rate of exchange between other units of goods X and Y which are
equally preferred.

X, Y o flu &m@emm)lﬁleb'@é_laml_u‘u(gl.b QurLs@psflenwleorer 90 smbm
ufleuisgemen elldlgn

Answer not known
aflenr. GQgilwaldama

76. The relation between Input and Output of a firm has been called as

R ﬁ@mm{&,?ﬁsﬁr 2 diafRa@nd QeualuiRs@apdarer AgsmrGL 6T 6ol
Sienp&sULHSDng.
\A Production function (B) Revenue function
2 Hugd gy QU(THGEUMLL FrTiTL|
(C) Cost function (D) Profit function
Clgevey Fmiy @evmu Fmiy
(E) Answer not known

Economics

elenL Ggflwelhama
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77. The law of variable proportions is otherwise called
wrmdlern sHlflsnsafier ellfulener Geum ereucumm enPSHEOMD ?
(A) Law of increasing returns
cuaribg Gladd allenaray afild
\M Law of decreasing returns
@@nhg Qs eenere] el
(C) Law of constant returns
IpTg elaneTa| 6l
(D) Law of increasing returns to scale
auaTihgl Ged eflanere lare| 6l

(E) Answer not known
eflemnt_. Wgflweierena

78. The efficient combination of the factors used in the production function
1s called
Sper eurihs QaTLijenw srresfisamer LWSTURSFEID 2 HLSH FTiL] ereTLg)

(A) Iso-quants (B) Iso-cost
F0 16| 2 HLs &1 Ggway
VC{ Expansion path (D) Production
2 Husd umss e 2 Hrigdl

(E) Answer not known
clilent. @Agilwslcvana
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79. When all inputs are variable in the long run, it is concerned with

B

&TSHD erévem 2 el (HS@EHID IDTHEFnly LG 6D S(hbHEnaenL g

(A) Production function
2 Hugsl gy
(B) Law of variable proportion
wrob eldsrery i
M Law of returns to scale
2 Husd L ellenerey afldl
(D) Law of diminishing return
Gophs ted leanara] aid
(E) Answer not known
allenL Ggilwefcana
80. TUnder normal conditions an Indifference curve slopes from left
to right. :
Queuner Beeliurhsald gm soGrrésE ameatGar) @10 (HHg)
euaTs QFeeLb.
VAY Downward (B) Upward
&1p Crradl Qadgibd Guwer Crradl Gedaid
(C) Horizontal (D) Vertical
glen_to1_L Qadayb Qer@ssns QFwalb
(E) Answer not known

Economics

e Ggflwaicdrenan
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81.

82.

Budget line is described as
aufe| Hewa| Camlh @eieurm aletésmd

(A) Boundary line MPrice line
erevene Gam(i eflener Gam(p

(C) Income line (D) Consumer line
au(pLoIaT Cam m&TGaunt Gamh

(E) Answer not known
allen Qaiwsildeaa

Cobb-Douglass production function assumes the following assumption.

sl — Lnseve 2 Husd eniy ereumid eT(Camdramen Camerdlmgi
(A) Iilcreasing Return to scale - -
cuariithg Cad eflenera] jemey
(B) Decreasing Return to scale
Gephg Qo alenerey ojeney
\}() Constant Return to scale
wrd eflenerey erey
(D) Diseconomies of scale
SGsandleentp iema]

(E) Answer not known
cflen Gsilweildrene
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83. The price elasticity of demand means —
chlener GCaaneu CBHDEFES eTamig)

A

(B)
(©)
(D)

(E)

The percentage change in the quantity demanded divided by the
percentage change in price.

Gampuul L =aeilen ggais wimpph elamauid ghu@b sgeig WTHDSSTD
uUEGSEELLGHS DG

The change in the quantity demanded divided by the change
in price.

Campriul’ L. erefler  wmhow  efleeutid  ghHuimibd WOIHDSSTE
eu@bsLILHE DS

The percentage change in the price divided by the percentage
change in the quantity demanded. ] _
Aovaolsd gpuhd ogeis wrHpd Cgmenliar ssels wIHDSSTED
GUGHSSLILHHID

The change in the price divided by the change in quantity
demanded.

dlemeouiled  gpu@w  wappd  Camriult emefler  WIHDSSTED
eU&GSSHLILIHS S

Answer not known

cflenL Qgiflweilcoenen

84. In classical approach utility is measurable in terms of

Qamemento Gamuim’ig el LI el TG @Gmmuﬁleb.@{maﬂp
(P LD.
(A) Ordinal utility (B) Marginal utility
cuensl) Lwetm(p @mdBleaners LweLim®
M Cardinal utility (D) Satisfaction
Erwid@uesr LweruTH warhlamey

(K)

Economics

Answer not known
eflent.. Qg flwsildemae
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85. The relationship between price and quantity Demand 1s explained by

cllenavd@h Gaameu jemaydh@d EenLulamer blgritenu allemd@6us)

(A) Law of Nature (B) Law of Utility

@Qupens ol LueTUme (@ eSSl

) Law of Demand (D) Law of Supply
Caane aildl ey el

(E) Answer not known
eflen Qg il elidana
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86. Assertion [A] :

shm [A] :

Reason |R]:

& ITITEuTLD [R] ;

If a honey producer expands his beehives the
production of oranges of the owner of a near by orange
grove will increase.

@ Gser o dhusdunat seag Csaissalar 2 pusderw
difejubhisdemd oimAQiarer o Ters  Caminben  yr@ps
2 pUSH idlaEfsELb. '
Bees help pollinate oranges in nearby orange producer.
It is an external economy for the nearby cultivators.
<rers Cariider warhs CorsamasE Coatssdr o ga|demmen.
@3  mdlauerer  feusmulisE  Gewefliyp  Assasang

D (HEUMEEGHLD.

_(A) [A] 1s true []_5{] 1s false
[A] #f [R] seun
(B) [A] is false [R] is true
[A] gaum [R] &
Vd Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wopmb [R] @rasr@n &M Cueaibd [R]-ererug [A] Qbe sfwrar edarssid
(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

[A] oppn [R] @ranrhn s <yemed [R] aewg [A]l Qpe siiwurer

GTEHF DA

(E) Answer not known
cllenL GaMwelldane

Economics
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87. Cross elasticity demand is infinite under
GN&EE Camaeu GEEPSFE (pigeudms ererLg) erdled

(A) Imperfect Competition (B) Monopoly
Hlesm@enp Gumiy wHmflenn
M Perfect Competition (D) Monopolistic Competition
Hlenme| Gumiiy aphmiflenns Guimig

(E) Answer not known
cllen @siweidene

88. Micro Economics 1s also called as
migmentlars Gummetluied @OUgub mwpssiuBdns

(A) Cost theory (B) Interest theOI:y
Qaova] Gam aullg Gamur(

(C) Income theory \m Price theory
eumeumi Gamum@ ellenards Gamm_umr)

(E) Answer not known
aflent_ Cgiflweioeama

89. Economic theory expresses
Qunmertgrgs Camun®h Qsfailig
(A) The Laws only
efflaar b Gib
(B) The Diagrams only
UL MI&ET W (hib
\}6 The Laws and Principles
sfSlaamenyb SlgliLemLs Qardranssamaeruyb
(D) Calculations only

SEEGERGET DL (HLD

(E) Answer not known
cflen Gsiflwuelildvene
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90. In Economics, “Ends” means 3
Qumrmreflweller wpyay eram Qummeild eumb “erer sv” — eremLigear QuTEmET @)g)

(A) Media (B) Goods
FMSETLD L1 65T L5 &S 6T

(C) Supply M Wants
<efliy CaenauseT

(E) Answer not known
cflen Gsfwelidena

91. FEconomics refers to both to the behaviour of the individual and of the
society as a whole stated by
Qumremngmyb ererLg FefpUi WHDID QLDrrg,g, &@g,rru_lg;gﬂm ‘Lf,i_g,eﬁ)g;u_lrr@m TG

ga e

(A) Alfred Marshall ﬁ Lord Robbins
LT Wriagd QT gmidesren

(C) A.C. Pigou (D) J.N. Keynes
a.8. 9@ " Gep.eib.” Sabrev

(E) Answer not known
aflenL Gasflweicdana

92. Economics was defined as a “Science of material welfare” by
Qurmafiueme “Gummdreri pa sifleflud” eranm Gassambd g lue

(A) Adam Smith u{) Marshall
<L b 6ol LDTTE56D

(C) Robbinson (D) Benham
@ mllensen Guemanmb

(E) Answer not known
el Qzflwelldane
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93.

94.

95.

The “t” distribution depends on

“t” ureud MW FMHE o 6Teng).
(A) Population Parameter jDegrees of Freedom

pewdidsrEd uaTueTeney &1 GITEHID S MI&ET
(C) Attributes (D) Co-efficients
LI GBI L] & Qapsser

(E) Answer not known
aflenL. @zfluieferenen

is the standard error of the difference between two sample
proportions (P, - Pz)

wrdfl svalflgrisaiar sHduren (K —F)) srarugherea S rilen
® & & 142 & 1P
2AGLD-

VIR TIPS SRVAYS

© Py 7, ® re(},+ ]
() Answer not known
allem Qgfuisildena

Calculate standard error of the sample mean, when sample mean is 100,
sample size is 64 and population standard deviation 1s 24

@ epeows AsmedHllgiarer wrfflullledr syrefl 100, eigar oare; 64 Gogib
2zt HlLallessd 24 aafled, obwrdfl  sgrefssrer Al nQapenns
SarES (.

@) 4 D 3

©€) 6 D) 2

(E) Answer not known
cllenL Cghluaiicvaney
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96. Which of the following distribution is used to compare two variances?
Geeu(pld UFeudsele arg G wiflaamer @UINRHasHE LweaTLHE DS ?

(A) Normal Distribution F-Distribution
Guidblened Lpeud F-ureue

(C) Poisson Distribution (D) t-Distribution
LIMETET LIFeUE t-ugeued

(E) Answer not known
dlen. AasMwchldene

97. Random Sampling is also known as
FweUmilL & @n@HIULY eréusurm am@a&uu@aﬁ]m@')

(A) Systematic sampling (B) Stratified sampling
wepwiren spHiiyy Sh&sRHEGaETe gllpHiiy

(C) Cluster sampling M Probability sampling
G sLpEayY Pepssa sGnHIY

(E) Answer not known
eflanL Ggflwislldene

98. Which one of the following 1s a non probability sampling method?
Speu(melareubmieT argl Hlshsse] ergm sabnHiEse (papurELh

(A) Stratified sampling (B) Simple Random Sampling
uRsms FbnHEsd gweumiiL FEpHdsea

(C) Systematic sampling M Quota sampling
pe@puns &EAnHssH RESELHW@D &lpBSsD

(E) Answer not known
ellenL. @sRwsildena
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99.

100.

101.

In a statistical enquiry, when the number of observations can be
counted, it is known as :
e ydeflelleur etlergenemmulley  Caeeutiu@b  eflugmisefler  eramanilsansmanw
SEMEHS L (PG| LDTEITE <iF| erent SMwLILBE D).
(A) Real population (B) Theoretical population
Qious psEsTGS 2iflpepseiu puwsdsiad
Finite population (D) Infinite population
QPrail P@ws tsned epieflor apipaing Asned
(E) Answer not known
cflenL QAaMweieenen
The totality of all the observations of a Statistical experiment is called as
@m PUald ELbtunpn  S@masg  egsallar CQurssnd  Spssramiomm
2iML&EEILIRE D)
(A) Unit MPopulation
SADEG PYLFASTGH
(C) Sample (D) Frame
Tl g SENLDLIL|
(E) Answer not known
eflen Qg ilweilcvans
Selecting additional units at evenly spaced intervals is
Egnar @len_Geualluiedr smbhisdr w@Gsaer Sinralssuy CoibOshriug
\A Systematic Sampling (B) Cluster Sampling
(PEHMENDE: Faf) Qsrsg Fm
(C) Stratified Sampling (D) Quota Sampling
u@&ens Tl fepL_CILL1 LkIE Fam)

(HobUGSE &mAnEISD)

(E) Answer not known
cllenL Qgflweiidvanen
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102. Match the following:
Détreumeuamaupenn CUMBSEs

(a) Normal Distribution 1. Jakob Bernoulli
@udyblanels Lijeue Gapgatt ClurGperad
(b) ‘¢’ Distribution 2.  5.D. Poisson
‘" Lyeued S.D. umiisnen
(¢) Binomal Distribution 3. W.S. Gosset
FFERMICILL LITeuE) W.S. CanQe
(d) Poisson Distribution 4. C.F.Gauss
LUMCISTET LIFeued C.F. sev
@ M © @-
4 3 1 2
B 1 2 3 4
(C) 2 1l 3 4
D) 1 3 2 4

(E) Answer not known
ailenl. @gMusiidame

103. The difference in inferences drawn between population and sample is
called as
pusQsrgd yerafl elleurtizer wpmib wrSlfseflear oig@iwramsst GeunhDlhE
@enLCuw 2 arer Caupiun® Siempssiiufeug

(A) Dependence (B) Random error
T Erpp Genip
M Sampling error (D) Standard error
wrdifl Genip Hevavwires Yemip

(E) Answer not known
sflen L Qgfuishldenen
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104. Statistics may be called as

Ljeretlufluieh GTRTELD DEMLPEHSLILIL QLD
\ﬁ() Science of Counting (B) Science of adding
eragorevTedlen/ LIl urell (b <2iflafluie @l b sidlelled
(C) Science of ordering (D) Science of dividing
auflensILHGHID =jbleilwied U@L il

(E) Answer not known
elen Qagfluieidena

105. The father of vital statistics is
w&dw yeretlwadien shens

\ﬂ() Captain John Graunt (B) Tycko Brave
GaLr_am gomesr Hliymair_ &G ACrail
(C) Edmund Halley (D) Sir William Petty
eri_oeir’_ ameGev & eflévediwih 191 1

(E) Answer not known
eflen_ QaMwiehldeanc

106. Which 1s not a division of central statistics office?
Mlesrau(pueneupmiar ergl wHHw yerafludwd signeumwasder 9fa) e ?

(A) National Accounts Division
GCasflu aurey Gewey sars@ser 1ifley

(B) Social Statistics Division
Feps Laretludtncd ifley

\‘() Funds Distribution Division

Hdl vdtivey 19fley

(D) Economic Statistics Division
Qumgpermgmyll Lerafluflwed Wfley

() Answer not known
cllen Qg flweldeana
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107. Assertion [A] : The number of questions in a questionnaire should be

as small as possible.

gapm [A] : eflammii iquielled 2 etenr efamdsaien eaTailsms (g hseueny
Genpeuresis @) mese CelamHib.

Reason [R]: The time of the respondents should not be wasted by
asking irrelevant questions.

sryeamrid [R] soupsllowns deamssmers Gsl(  &fugbd  supuetler

VA

(B)

©
(D)

()

108. Populations census is conducted with the help of

Cordamns eiamnTiqdssnl _1g).

Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpmb [R] @ran@id efl. Coayd [A] é@he [R] eflunar eflergsid

Both [A] and [R] are true and [R] is not the correct. explanation
of [A]

[A] wipmib [R] @rawr@on 0. Cogih [A] Qne [R] sflurer clarésnd sida
[A] is true but [R] is false

[A] & semmey [R] seum

[A] is false but [R] 1s true

[A] paumy <parmad [R] &l

Answer not known
ellenL_ Ggfwaildaa

Ww&&TEgsTens HeanrdblsEHiL 2 geflujL e BL S IILREDS.

vl
(©

(E)

Economics

Schedules (B) Questionnaire

cAlLyrInC g wIeh cllatm eflent L1l g 51
Sampling methods (D) Non-sampling methods
FGpHLY peom sGpOLiy @dans (wpenp

Answer not known
eflen QgMwelidane
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109. The method of studying a part of universe is called

am  wWwyobsbstagdulba em ugHewls uUgsGD WPeD
erenmenlp&ESUILHEnS).

(A) Complete enumeration method
WP semsEL[H apenp

m Sampling method
s HSSD (perm
(C) Non-Random sampling method
cumitiy eng wirdlfl (penm
(D) Random Sampling method
eumii wrdlil gpanm

(E) Answer not known
eilenL Gzfweldenav

110. Characteristics of a good questionnaire
6(15 bedey eflenmiiLil g uielesr E)urediy
1. Logical sequence
sitdas THullerar aiflens
2.  Unambiguity
v Gumgher @priudlerentn
3. Kasy to comprehend
crafidled Lflbgy Cardrerdomigwig
4. Large size in nature
ereiled Guflu geanwo

(A) (1) and (2) are correct (B) (3) and (4) are correct
(1) wimib (2) g Hwer i (3) wopmd (4) Awer &M

(C) (2), (3) and (4) are correct wf (1), (2) and (3) are correct
(2), (3) wpmibd (4) fuiar & (1), (2) wdmd (3) g Hwer &

(E) Answer not known
cHewL Qgflwelldanso
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111. Questions which are asked and filled in a face to face situation between
interviewer and respondent is the method of
soeusr GasfuGuni ssed smueusmy Crméeg Coir erdliGsndnand @ pblanaudd
Raelastiupid GCadels@Erde Qurgleursl LuaTURSSILRD  ampuller QU

v&) Schedule (B) Data
DL L_6L & GHT SHCUDEET
(C) Sampling method (D) Drafting the Questionnaire
wrg M apenm Cadrellaaner auamysed

(E) Answer not known
eltenL QgMweildema

112. Which of the following is incorrectly paired?
Epsameupie ahs Comg sflurs Qurmpseiideama ?

(A) Primary Data - Interview Method

wpsoblane efleurid Cpiups wpenp
ﬂ Secondary Data "~ - Through Schedules

@rermb Blepe allerLd UL GUEDERT FLPAULDITS

(C) Non Probability Sampling - Multi stage Sampling
Blapssapn wrdfl wpenp Uaast L il

(D) Probability Sampling - Random Sampling
Blaspgse| wrifl apenp @erwunQer wirdfl

(E) Answer not known
aflenL Ggflwellerane
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113. Which of the following Public Sector was set up during the first five year
plan?
W5d wBg5 gpar®h S sHaCurg Seeumd erbs Cung sienn  Hlmeuenn

SIEHLDSSLILIL_L ) ?

\A Chattaranjan Locomotive Work
Agzrgreer @uuiledr ergpdlen Qamfiihemamae

(B) Steel Authority of India
A Gy eroe@ 2 prigdl Flpieued
(C) Bharat Heavy Electricals Ltd.
umys W@GWler Hlmeerd

(D) National Thermal Power Corporation
Cosdlu garllen sipasilb

(E) Answer not known
sflen Qsflweleene

114, “Make in India”, global initiative was launched by the Prime Minister on

“‘@ifuneded  surfuGuid” eretip e esamelyu  wwHd  Qraw  wHSAwurd
AT AT AW MR-

Vﬁf September 25, 2014 (B) May 25, 2014
Geriwur 25, 2014 G 25, 2014

(C) January 25, 2015 (D) April 25, 2014

soarreulfl 25, 2015 gtigen 25, 2014

(E) Answer not known
aftenL Qsilweierane
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115. Assertion [A] :

sapm [A] :

Reason [R] :

smyemid [R] :

(A)

(©

D)

(E)

Economics

The cotton and textile industry is the largest industries
in India.

@sdwrefles LSS  oOmbL  Gell  Csmpbstene  smer
WasiGQuilw Cgmplberaa @b,

Its importance to the economy lies in its capacity to
earn foreign exchange.

@i Qummerngrrsdlad 10les  psdlunrs  llerhisgnigw
S hflwu Qeasureniienw GLmLETENIO FLIySH5HADS!.

[A] is true [R] is false

[A] &ft game [R] seaum

% Both [A] and [R] are true [R] 1s the correct explanatlon of [A]

. [A] womd [R] @rear®ib &Ml Cuogubd [R] eranugl [A] i@ sflwrer eﬁma;asm
[A] 1s false [R] 1s true

[A] saup sammer [R] &M

Both [A] and [R] are true but [R] is not the correct explanation

of [A]

[A] wppb [R] @remr@on ef. ema [R] eaawg [A] Qpe sfure

BTEELDE A

Answer not known

aflen GsMuaildema
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116. Match the items in List I with the items List 11 :
i gwied I ey uiigwiedr IT 2 air Qungpggs :

ListI List 11
U igwied 1 L g wied I1
(a) Closure 1. Temporary closing of a place of
employment or suspension of
work
Qsmfld Bmeuer apL e vaxflyfluyb @I sws  sherdlsLrs
Yoz <Adwg Uil Gl Hpissd
(b) Lay-off 2.  Encirclement of the manager to

criminally intimidate him to
accept the demands of the

workers.
Caueneullan Hlmigsd Qgmfeomariset e Carflémasenear
gh@wrm Corereny aphmiensuii e
(¢) Gherao 3. Permanent closing down of a
place of employment
wHDI®S Pneusmsos Hypsyons e
(d) Lock-out 4. Temporary refusal of work by
employer to a worker
SHGHEUENL_LIL| QamforarisEnse Goume  euphis
IflireumasLd SHETAELNS ML
GgMaluiug,

(@ G (@© (@
@a 1 4 2

W 3 4 2

<€) 4 3 I

™ 2 4 1

(E) Answer not known
elilen Qs flweileoene

LW DN o= W
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117. In India , the maximum number of workers are employed.
@nHwirsller erpg Gambied dsuls Wgmflamerisen Geuener Qaliflpriser.

) Textile Industry (B) Automobile Industry
saaf Gsmilhemene sreiwuidl Cgmhnsrae
(C) Iron and Steel Industry (D) Tea Industry

B pby LHMID 6Toa@ LsTharene Caullener Qzmflhsrena

() Answer not known
eflen Qg flweicrana

118. The programme of District Industries centres (DICs) was introduced in

e L Qsrflombukiss b Siflpstiu@asiul L e
(A) 1969 W) 1978
(C) 1989 (D) 1999

(E) Answer not known
elen QgMwelerena

119. Gandhian plan was formulated in
ey SThAlwelrs S S0 2 (HeumssILLLE].

\.@() 1944 (B) 1940
© 1953 (D) 1946

(E) Answer not known
allanL Qg iflwellevena
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120.

121.

122,

The use of revenues for different categories of expenditures is known as
eu(heu Tuil eneo, LeCaum QaaellanmisEnssns LweTLIRES S darereug
aren SHlutiuBGEmg,).
\A Financial planning (B) Economic planning
Bl Sl éd Qummerrsry S BlLe
(C) Monetary planning (D) Development planning
HlEuSwier 18l 6 @pertGanpm S L 1bl
(E) Answer not known
slleni_ Qs flweildvana
India follows : Economic systems. :
@sSur Qumrmerrgmy iemwindener lerLHmndng.
(A) Capitalistic (B) Socialistic
psoraiisgen &IDSALD
Mixed (D) Authoritarian
SELIL FHTHuSw
(E} Answer not known
cflenL QgMwslildened
The targetted overall GAP growth rate of the economy under the Twelth

five year plans in India is
12-eugl gbsrar(s AL sdle @iduneier Cwnss o HETCH 2 MHsduller

cuamii&S @lewdm, :

(A) 7.0 percent \A{ 8.0 percent
7.0 sgaizid 8.0 #seisd

(C) 9.0 percent (D) 9.5 percent
9.0 saaisbd 9.5 ssalisbd

(E) Answer not known
cflen Qgflwialldvenen
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123. Find out the indicator of Human Development Index (HDI) from the
following:

Gereupeuareupmier walgeuers @M e (HDI) sam_flu 2 gayb s@mell erg)?
(A) Body Mass Index
2 L Qummeirento ereer (BMI)
(B) Wealth level
Gleceu Hlane
V() Life expectancy at birth
Gprinder Gurg erdlTUmTSsLUILIEID. QumpHITer
(D) Land holdings through inheritance
’ wenGanmit QergSalmbs QuUDD He 2 emn 466,

(E) Answer not known
cfHlenL Qgitwaicana

124. The body that replaced Indian Planning Commission is
Hr L @peline roprs gHURSSILLL HenpUiL
(A) Finance Commission
Hsew

\M National Institution for Transforming India
Gsdwnener 2 prHphd delegherar Godlu Hipesand

(C) Trade Commission
SITSSHE SR

(D) Agricultural Commission
Ceuarmer &(p

(E) Answer not known
eflenL Ggflweleana
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125. One of the positive impacts of land reform is
Hleo Fidmasssdlern, Chiwenpuwirer/bade o elenarauns @& 2 diang

(A) Capitalistic domination has vanished
wserallggie SRl wennbsg

(B) Physiocratic domination has vanished
Qupenseurdlsdr psHRTUINIL DEDhSS)

(C) Mercantalistic domination has vanished
aueflsaImglser s mnoiy weanbhss
\ﬂr Feudalistic domination has vanished
Bladrysgie/He 2 amLaweaindsafier  sdlglluy wanbss

(E) Answer not known
afenL. Ggflweideme

126. What is the core aspect of the Green revolution?
pgenUL Ll Sudler s EhEbSEI(h eTeTer ?

) Use of high yield varieties of seeds

o Wi ellenerdaad B allengsaner LiLIGTLIHS5SI6g)
(B) Use of high yield varieties of Cattles

2 Wt elleneTdged HHD STOBMLSME LILIGTLIHESI6S
(C) Use of high yield varieties of Crops

2wt ellenanédFead H@pbd LudlTeaienssamer LILIGTLIHSS6US

(D) Use of high yield varieties of Water
2 Wit ellenerdged GHb SHewrenteny LILIGTLIRES GG

(E) Answer not known
allen Qg flualevena
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127. Which of the following are correctly related to the role of agriculture in
economic development?
Qumarmtgmy weanGarhmsdler Geuerramanwuller Lkigefluded erg sflwns o dreng ?
1. Agriculture is providing food for the population
Cauermeirenlo BT (Bl W&ESEHSEE 2 areielsEsng
2. To increases the demand for industrial products
Qamfipsrene o Husd Aummr sar Camelamw flaisESng
3. To promote fiscal policy
flésCardrensamw CobuRSs GFleug

4. To increases rural income
Symoliyp euoragas Hsfss dawieug

Ay (), (2), (3) are correct and (4) incorrect
(1), (2), (3) &f (4) seum

(B) (2), (3), (4) are correct, (1) incorrect
(2), (3), (4) &, (1) s
(1), (2), (4) correct, (3) incorrect
(1), (2), (4) &, (3) soum

(D) (2), (3) correct, (1), (4) incorrect
(2), (3) &, (1), (4) seuy

(E) Answer not known
sflen GgMwellcbeanen

128. Which is the biggest unorganised sector in India?
@sdwurefer WsL@UAL SewligsETyT Hann eTg ?

(A) Industrial Sector (B) Commercial Sector
Qameé gem eumenilLy gan
\ﬁ Agricultural Sector (D) Service Sector
CeueTraRraning gianm Creneus glenm

(E) Answer not known
elenL Wz flwsidene
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129. The abolition of Zamindari System is an objective of

soulleirg il (pepmufenan eLOlLitIg CHISsIDTELD.
\) land reform (B) economic reform
Bl Sidmsssdlen Qurmartgmy Sigmssssle
(C) cultural reform (D) political reform
songgny FidmasgsH e TEwI FiSmSsHHem

(E) Answer not known
eflenL_ Agiflweidency

130. Whose model was followed in our country for II five year plan?
wimgpenwi bl 2eug pisran® S sSh@ aswrariul L g ?

(&) D.R. Gadgil '\ 7 Mahalanobis
D.R. s de waoCanmAen

(C) Man Mohan Singh (D) Jawaharlal Nehru
werGongen S speuapfiemed G

(E) Answer not known
cflenL Qghiuesicdena

131. Physical Quality of Life Index (PQLI) was formulated by

Physical Quality of Life Index (PQLI) GTETLIGU TITED
2 (IheUNSSHEILIL L G)].
vﬂg M.D. Morris (B) Malthus
M.D. Gwomflsv LOTEDSE
(C) Warner (D) Irwin Fisher
U Gieier SlawT

(E) Answer not known
aflen Qg fluicildvanen
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132. Which of the following are true regarding with economic development?
Gemeu(pelareupmar Gummermgny perGearhmd ubdl ks eursdurtiser aflurs
2 _GlTeNng) ?

1.  Qualified changes in the economy
Srperar GUmEEeTTS Iy LIHDHLD

2.  Quantitative sustained increase in the population
Sarelldd Aar_ibgy sfefgsns ararGL dedab wasar grens

3. Highly level phenomenon of political, social and cultural factors
development

o WiThs GG S658 oy, seps, uamur_(hé sryaflaalar (pearCarhpld
4. An expansion of the economic system with inequalities
ue Coranmseild eflfleurer Quirrarnsity wWenn oHnssTey
(A) (1) and (2) true, (3) and (4) false
(1) wpgid (2) &R, (3) wppitd (4) seum
(B) (1) and (2) false, (3) and (4) true
(1) wopgi (2) saug, (3) wpgid (4) &
(C) (1) and (4) true, (2) and (3) false
(1) wimib (4) &, (2) wHgd (3) seuy
(1) and (3) true, (2) and (4) false
(1) oppid (3) e, (2) wppid (4) seug

(E) Answer not known
slenL. Ggflueildeme

133. According to Kindleberger, “Economic development means
Sleieris QUITMT SiautaeT sapmiliLig “Qummermgry werGermmb ereLg @gieum@ib.
(A) more output and input

Blgd Qeuafui@ wHmid 2 draf@

M more output and changes

H@d Qeuaflli@bd wHmID WIHOEIEEELD
(C) more output and Growth

@S CeuafiuiGd whHmb eueriFHuyb
(D) more output and man power

W@ Qeuafluliid wHmb wals s&HeEHn
(E) Answer not known

cllenL. Ggflweildane
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134. Assertion [A] : In India, per capita Income is at lower level.

gapm [A] : @iSwuneile, sellbuir eugponand @Gapbs WL GHd 2 drerg,.
Reason [R] : In India, population growth is showing an increasing
tendency.
smyewtid [R] : g(r_'ﬁﬁu_imﬁlsh. wiseT  Qgnens  eaertdfl  oflsllss e
uTs&s T HEDg.

(A) Both [A] and [R] are true and [R] is the correct explanation of [A]

[A] womin [R] @yen@n of, [R] [A] é@ slurer carssnng
w() BfoE:j};] [A] and [R] are true but [R] is not the correct explanation

0
[A] wpmb [R] QresrGin e, epemed [R] [A] &@ sflwrer sQerdamde

(G [A] is true but [R] is false - ' ’
[A] &Ml yemmed [R] seum

(D) [A] s false but [R] is true
[A] seim <pama [R] &M

(E) Answer not known
allenL Glgfwelldansy

135. Which one of the following indicator is not taken into account in the
calculation of HDI?
Swssa  @OluGhselled abs @@ GOWUEH welseer Gubur (@Ol
se&dl er(Hdg ClamerariiniLmg) ?
(A)  Adult literacy rate
auwgl auhGamtT soelludley s
M Disposable personal income
QFaelilL_&Fniqut aHLOTEILD

(C) Gross enrollment ratio
Qursgs Crisgas eQdsid
(D) Life expectancy at birth
Wpd@nb Gurg erHiuntéd@hd LUl STeLd

(E) Answer not known
dlenL @gfluieildvena
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136. The idea behind zero-based budgetting 1s attributed to
Lpshetlwl g liuanLulerer eure| QFwe] &L s@msdlen 1erarantludch

SM_TLenL_Wg|.
(A) A.H. Hanson (B) J.M. Keynes
A H. Gameaanr J.M. Eetreiv
Peter A. Phyrr (D) Nicholas Kaldor
S A, Suwi Hl&Camaen sradLi

(E) Answer not known
allenL QsMwsilebane

. 137. To cover budget deficits, the government has to increase its
aure] Hpb Qeveysersdamiwiorear @ Qeuafllllenar HiriiyeughCon r&seT

2iflsfladng.
)  Public debt (B) Public revenue
QurgidsL e Qung eu@peumll
(C) Public expenditure (D) Public 1ssues
QurgF Cawmay Curg Geusflli@ser

(E) Answer not known
allenL Qsflwslldana

138. Defence, Justice Police and administration are included in
the budget.
@rramieuid, fEsgiem, sreud wHmbd Bireursh Gurermar QFld o dremL ki@ ng)
\A General Services (B) Particular Services
Quirgr uenflesafla @OluC L uanflsaficn
(C) Social Services (D) Economic Services
Fepsl) Lienfisatié Qungpermgnyt Lenflger

(E) Answer not known
slenL G Mwelicens
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139, was the Finance Minister of India, who introduced zero

based Budgeting.
@QpHwnellcs HH mwssrres Q@Ebs Gurg BGrm Guev LGl
SIBlpstILRGSLIULL g,
(A) Mr. Pranab Mukarjee Vﬁ( Mr. V.P. Singh
. Glyerm (e fHwm. V.P. fm
(C) Mr. N.D. Tiwari (D) Mr. R. Venkataraman
. N.D. Haurf &m. R. Qeuris_ymoen

(E) Answer not known
eilen_ Az flwieiovena

140. Who first prbposed the idea zero-base budgetiﬁg (ZBDB) for a gox-fernment
budgeting in USA?
SCnfsareler rsmus eurey Oswea AL sdosrs yshelu @uqliuemL sure)
Qewa| AL g psdld (per meudbseuT WIi?

\) Peter Phyrr (B) J.M. Keynes
e (S . Gey.erib. Glasuiesien
(C) Henry Nicholas (D) Thomas P. Lauth
Gamesril HlsGCamaaen Smwoen 19. erg

(E) Answer not known
cllenL. Gz flueideane

141. Bonds are issued to raise
Qumengi@ usdlrmsear QeuaflulietiLi@dlerper.

(A) Private debt w( Public debt
SelwLmiTs: &L Qurgd &6

(C) Corporate debt (D) Industrial debt
STTUGy &6 Gamfled sLem

(E) Answer not known
cllen GaMwelldena
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142. Which one of the following is not the objectives of debt management in
developed countries?
Speumeuaieuhmidr erg  euamihgs BriHselar s er Guensiamw GprésmseTD
RETDTE @vened ?

(A) to attract sufficient funds
Curgirar BlFullaner selmge

(B) to minimise interest costs
Uy daran CFaamal (GHamDndoe

(C) to maintain economic stability
Qumrperngry 2 mdssemenioemu LigmoilEse
M to increase welfare of the people
D&GET BELEET 2 UITHHISH

(E) Aﬁswer not known
sllenL. Qzflwelldana

143. Budgetary deficit means
LubpTE@D HHLTESD eTemg;

(A) Total Revenue x Total Expenditure
Qurgs eu@eumil X Qwrss Geama]

(B) Total Receipts + Total Expenditure
Qurgs eueumi + Qiorgs Gswey

(C) Total Expenditure = Total Revenue
QorEs Cewe| = Cbrés eumhem

M Total Receipts < Total Expenditure
Qnrgs augheumil < Quorgg GlFwe]

(E) Answer not known
ellen @zflweldeane
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144. In the case of an indirect tax, the incidence of taxation falls on

wenpps euflafldliba auflefdinder grssn

(A) The person on whom it is levied
auil lflGaE0ur L emECs

\M The person but the incidence 1s passed on to others
aufl efiflgssrinl L eufldsemwenn bHDaIHSE SLSHHDTT
(C) The person and is evaded
aufl efldlssiinc et euflguiniyy Qedidlpmi

(D) The person who bears the incidence partially
auitl eflflastiuc L eui aufld senwenn uEHwuns erpdpmm

(E) Answer not known
sfilenL Qzflwellcvenay

145. “The incidence of a tax is called the direct money burden tax”, was said

by .
el Hlavewiiur® Corg uemssenn eufl ererm imwpssuubBdpg erenm sadureui
Wi 7
v@j' Dalton (B) Hicks
L_ITGDL_6T aubl & 6o
(C) Seligman (D) Musgrave
AEF N EST s e &G ey

(E) Answer not known
Men. Ggfuretieoane
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146. The situation of occurs when an individual is required to
pay two or more taxes for the same income in different countries.
QeucuGeury prhsefler Gy eumpwransdosrer Eram® dag AsHE CHULL

auflgenar Qeqds @@ pUBEE Cseeuliufpib Gurg Hlena
eHLbHID.
(A) Progressive taxation (B) Regressive taxation
wpdCunsasTar euflelSli nCGunssrer euflellliLy
) Double taxation (D) Complex taxation
@il eufleildiny Hlane Saaeomar afl eflgliy

(E) Answer not known
cllenL Ggflweicrena

1477. Progressive taxation is based on the principles of
cueieilflg euflger erhs QareTansuier gL udled BiemigeTers)

(A) Benefit (B) Cost
LiLieh Leaa]
M Equity - (D) Expediency
FLoggieuLb FTGEHLD

(E) Answer not known
cflenL Qs flwaidena
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148. According to the principle of maximum social advantage, public
expenditure and revenue should be incurred and collected up to the point
where
aflsul s sups  peed  Qardrensulering,Qurgé  GQemesdr  wpmd  Qug
eUBLLIETD eThs Setallh@ o Ceuam@b whnibd Ceaflss Couemm{HIb

(A) MSS>MSB (B) MSS <MSB
GTLD.6T6N. 6TE = 6TLD.eTe. 14 eTLh.eTein.eTey <  artb.erev. 1
\@)/ MSS = MSB (D) MSS=MSB=0
6TLD.6TEV.6TE =  @rih.eTe. 19l GTLD.6TE.6T6 = eTb.etev.14 = 0

(E) Answer not known
cflen AgRwuefdeama

149. Canons of Public Expenditure is given by
Qurgis Qeeeiler Liafllg sflflamer cupridluet

\.d()' Prof. Shirras (B) Prof. Mirdal
Gugm. edliymev Guym. WO
(C) Prof. Bell (D) Prof. Hanney
Guym. Qué Guiym. enrGer

(E) Answer not known
elent. Qgsflucildame
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150. The canon of public expenditure have been enunciated by
QurglF Geey eramp  Hlwudl wrpmed o Fefldsiiul L g ?

(A) Adam Smith and Pigou
<L bevlfls whmid 9@

(B) Josiah stamp and Musgrave
Gegmals evLmblr whHmih wevdGrau

(C) dJohn Stuart Mill and Seligman
soment e Beu(® W whmib CeadlsGoen

\[6)/ Findley Shiras and Dalton

e’ Cev Hymeis wHmID LwedLeir

(E) " Answer not known
aflenL Qzflweierene

151. Which one of the following is not a causes of growth of public
expenditure? ,_
Eparamuareupmiet geatn ung dewey sueaTieughaTar &TyarRTd e

(A) Increase in the activities of the state
sirdler Qeudur@ser oigsfling

(B) Development of agriculture
Gouemmaimeny (wenGamhmwenLw Ceize

(C) Urbanisation
IB&TLDWILDF&HSE

\ﬁ) Privatisation of industries and Trade

Qzmfldoadr, euratlugemns SelLMTDWIDTESEH0

(E) Answer not known
eflenL Qg ifiweiidens
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152. According to the principle of maximum social advantage, public
expenditure and Taxation should be carried upto a point, where

Siflsur s Fups Sgismosdlen Qamdaransuleny., dung Gswey wHmib euflafdiny
e Latefl cueny Garash Gaderiu Couar@imn

) Marginal Social Benefits are equal to marginal social sacrifice
@midfleve Foups perepwser, @mdifleae seps durssdhe o
(B) Marginal Social Benefits are unequal to marginal social sacrifice
QnifHlee Fups partmbasdr, Gndlblaa Fips HurassnaE Fowrg Edame
(C) Marginal Social Benefits are greater than marginal social sacrifice
@niffleoe Fops paranwadr, Qnidl Harve Fops durasams el Hifsn

(D) Marginal Social Benefits and less than marginal social sacrifice
@miflflenew Fows parenwadr, @nid Hlave sFeps Jurssems L Goanay

(E) Answer not known
eflenL @gfweildane
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153. Public revenue includes
Qumrg| eumelmuAe 2 eTeTL&aLb

A

(B)

" 4

(D)

(E)

Economics

taxes
sumaer

taxes and prices of goods and services supplied by government
enterprises

auflsar WLHMD ATHSSHEOD GUPRKIEGD  LIGHTLBIGET WHMmD  LiawsEhds e
aflenenSHET

taxes and prices of goods and services by government enterprises
and revenue from Administrative activities

auflser, rESHD  QUPEIGD USRI RISET  bHmih Ut sEsssmer
cllen e (gHL_6lr, HlTeuTS HEn L (LPenD&EHSHTET G (HEU Tl - -

taxes including Goods and Services Tax (GST)
Fy&@ wHmb Creeuaufl o arefll L sufser

Answer not known
dlen Qaflueldene
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154. Which of the following is incorrectly paired?
Epseaeupmien o1yl seumns QU@ssIILL_HidTars

1

@)
3)

&)

(B)
Pt
o)

(&)

Publhie Finance —

Quiig H9

Private finance —

saflwmri g
Major Fiscal Functions —

wpsdlu HE CnesflEdr

(1), (2) are corx:ect (3) 18 wrong
(1) wpmii (2) &l (3) seupreng
(2), (3) are correct (1) 1s wrong
(2), (3) &fl (1) sauprang)

(1), (3) are correct (2) 1s wrong
(1), (3) o (2) pouprang

(1), (2), (3) are correct
(1), (2), (3) stwureng

Answer not known
clilen Agflweildeana

75

Deals with the income and
expenditure of public authorities
Qug eursssHentlean aimeum) wHMID
Qeaeilarbisane aswimend g
follows budget principle

UL Glsgl Qaretengenw Qearupmydpg
Allocation function, Distribution
function, Stabilisation function
REIEEE L, udlitey pesl,

Hevaribhigsisd uenf
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155. The book “Principles of Public Finance” was written by
“Qurg BHulen Qandamssdr ereyb Brene er(pdluiat

A&) J.8.Mill W Dalton
Ggg.erev. 6D LT LT

(C) A.C. Pigou (D) Musgrave
a8, Y e Grey

(E) Answer not known
ailenL GgMuiaildena

156. The principles of Maximum social advantage is connected with

_2.5¢ Bleva sepgmu paer Gamum HLer QsmLfenwig)

(A) Expenditure (B) Taxation
ClFeay cuifl efl iy
(C) Public debt \ﬁf Both (A) and (B)
QurgisL 6 Aees Grar@nd (A) wpmb (B)

(E) Answer not known
efan Ggflwelldvene

157. Which of the following is not a cannon of taxation?
Setreu (palareupmieT ergl euilafiFriblenr Hluiglulleene ?

(A) Cannon of ability ) Cannon of inconvenience
Ametr Hluih eugdlullerenos e Hluwidl

(C) Cannon of economy (D) Cannon of certainity
Sssangdhaman Hlug 2 miHullenr Hlud

(E) Answer not known
aflen Qaflwaidena
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158. The intervention of the Central Bank is necessary in which one of the

following?
Sipsaam_supdld aded amww amuflifen smauih CasmeatiLRdpg ?

A) Fixed exchange rate (B) Floating exchange rate
Hleneowinar wihny eldsbd Wg&E@n wrHn Adsnh

(C) toimpose direct tax (D) to impose indirect tax
Crrig euifl olldldGa wepws il clldss

(E) Answer not known
eflen. Qs flwicildend

159. The interest rate fixed by the RBI for Commercial Banks is
eow  euidl  euedlls  euniflsErsg T STwomallE@d el &ish  ereuelmmy

SienpdsliLBEDs 2
) Bank rate (B) Discount rate
auraidl aSldlsib BHeTEnLlg. eflElgib
(C) Fiscal policy (D) Monetary policy
Hlfl&Qararens Lestewie Gamearens

(E) Answer not known
slilen @sflweilcena
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160. A monetary policy instrument LAF stands for

LAF erénp niawrsQardiens smeiluilenr eflfleundad ererer?

(A) Liability Adjustment Facility

sl il ey suss
\% Liquidity Adjustment Facility

Birann sfleiuyb ausd

(C) Legal tender Adjustment Facility
gl Lyirer Lewrd sAGsuiub euss

(D) Liquidity Augmenting Facility
Brenn oifsfls@En ausd

(E) Answer not known
cfleni_. Asfwelildana

161. Full employment should aim at securing an increase of
app Geuena Flenma Camerans ofsflluenu 2 CGelesharer
Crréssag Garan(ererg.

(A) Consumption expenditure (B) Investment expenditure
BI&T6 CFwa|ser WPSILH QFaa|sar
) Both (A) and (B) (D) Neither (A) nor (B)
(A) wppid (B) @ran@ibd (A) saup (B) saug

(E) Answer not known
alenL GsMluiaildana
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162. The market in which short-term financial instruments are traded is

called as
Gndu sreo fdésmeilaamar cuigssd Cauingh sheng ererug)

(A) Commercial Bank (B) Capital Market
auamfla curnidl APLSFETE Flhens
\ﬁ{’ Money Market (D) Foreign Exchange Market
LIanTE &lhens oipBuE Cewratentl shans
(E) Answer not known

aflanL Ggfwsildena

163. In order to encourage investment in the economy central bank may
C BTy d sl () alfssms sl Heughans minu ekl @DPEnENL ESEWITEHLD

A)

(B)

(©

(D)

(&)

Reduce CRR
CRR g @onseEbd

Increase CRR

CRR g &= (pw

Increase Bank rate

cuindl eflflgsbeans sni” B

Sell government securities in the open market
o7& ukigsaer Qeusfl shenguller aib@d

Answer not known
cllenL G fluislicvena
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164. The neo-classical Cambridge approach viewed the amount of money
demanded as a function of
peiar Qurmeflud Cab@fig Canlur yer &msglLy uams Caames erany SCL
o greT epamhlen psdlwiomear LestwimEb.

ﬁ Money income (B) Interest rate
LIG8T 6L (TG T ally efElHD
(C) Both (A) and (B) (D) Neither (A) nor (B)
(A) womibd (B) (A) @oame (B) @oma

(E) Answer not known
sflenL Qzflueideana

'165. The supply of money is

v afltiy eremug) S LD.

A) A stock concept (B) A flow concept
@uy Camun gped Cami ()

(C) Dynamic concept (D) Non-dynamic concept
@uign Camur® Qunristg Garlum®

(E) Answer not known
ellenL Qs flweidena
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166. Assertion [A] : A monetary policy designed to curtail aggregate

demand 1s called restrictive monetary policy.

ganm [A] : Qurss GCoemeamu GHDULSHENS eigaueEsSIULL  Lams
Qamdrens sU_HLUESSIUL L Lenrd CsTerans.

Reason [R] : The Central bank starts a restrictive monetary policy
in order to lower aggregate consumption and
investment.

smyenrd [R] : Corgs misT@eUd WLHHIL WSOl LD  GdDLILSDHSTS

@)
v
(©
D)

()

eow  euidlunrd  slHUuu@sstulL uewd  Candrens
QawuussriuGIng,.

[A] 1s true [R] is false

[A] s, [R] souy

Both [A] and [R] are true

[A] wpgi> [R] @ren@io o

[A] is false [R] is true

[A] soup. [R] &

Both [A] and [R] are False

[A] wopgo [R] @rein geum

Answer not known
eflen_ Qgflweildaana

167. What is the main determinant of the price level and value of money?
uemsSlerm gl wHhmb el oerenel Blitewmwinh Gelipd psfluwmrer Siomef

GG ?
(&)

©)

()

Demand for money \ﬂ( Quantity of money
vemigHlen Coeneu uansdlen ere,
Near money (D) Quality of money
S(HSTENLD LIGRTLD LemSElen Siyb
Answer not known

cllenL Ggilwslidana
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168. Who formulated this equation M = PkT (or) P =%?

M = PrT (or) P :% TGN FLOGTUML L. 2. (HeuTdEuIeuT wimi?

(A) Keynes %ﬂ Robertson
e LU &ehr

(C) Fisher (D) Pigou
Al 191

(E) Answer not known
edlen_ Qgilweildena

169. Permanent income, according to Friedman mcludes

S @Qwenr sapmivg Blybsy eupeml &8 o aTem_&alwig).

(A) Human wealth M Non human wealth
wafls cueTLd wafls euemd HDOTSE

(C) Both (A) and (B) (D) Either (A) or (B)
(&) wppid (B) @remGid (&) siwag (B) of

(E) Answer not known
eflenL. Qaflwelldena
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170. Assertion [A] : Value of money refers to the purchasing power of

money.

sganm [A] : vemgdlen wAIY, CGurmlsdT @b sé&feowul Qurmss
|eoSDg.

Reason [R] : The value of money is reciprocal to price level

sryentd [R] : vemgdler wHoybd Qureedseiiar dmaud soodp 2 ey
2 ML WG

\A Both [A] and [R] are true and [R] is the correct explanation of [A]

(B)

©)

D)

(E)

[A] wopw [R] @reor@n &0, Coend [R] ereug [A] &bhes sflwmen

eflaissLd
[A] 1s false [R] is true
[A] saum, [R] &l

Both [A] and [R] are true, [R] is not the correct explanation
of [A]

[A] wpond [R] Qrenib. edl, [R] erémug [A] e sflwuner eflerssinda
[A] 1s true, [R] is false
[A] ), [R] soup

Answer not known
alemi_ GgsMwisildena
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171. A Farmer produces wheat and weaver produces cloth. Here, exchange

can take place in the form of

aleuamud Camrgienn 2 Husd Qewudpri. Qpseureri genl 2 Husd CupQarerdpmr

@rer® Cu@mbd Qurmetgaar LIHHls CaTeaiaph (pamEE

(A) Banking system
cuitrdl penp

(C) Market system
EHENS (LPED

(E) Answer not known
ellenL Glgtwsilcrane

eTesr Ui,

Barter system
LIGTL_LDmDMm| (Lpen D

(D) Social system
EUPS (LPEND

172. The concept of ‘Money illusion’ was first propounded by
LIGRT LDTEDW 6TEND H(HENSG (PHETIPSaled & (meurddluef

(C) Firedrich Hayek
WenyHfléd Canws

(E) Answer not known
alen Gsflweidene

(B) Irving Fisher
@ el Gogi
(D) Robertson

T T F6st

173. Of the three motives for holding money suggested by Keynes, which did
he believe to be most sensitive to interest rates?
Semenmed LNBGIE@IESULILL. LD eSS mEEh epem Chrashs@Ehe, eully

AAghEEnsEG BGhs psILsged euTlbssTs 26Ul ereng B A6t ?

(A) Precautionary motive
penargsfsens Crnssn

(C) Transactions motive
ufleuirsgenar CHTESD

(E) Answer not known
ellenL Glgfwelicena

Economics

5) Speculative motive
DTG DeTEHELD

(D) Altruistic motive
ueps Grrssld
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174. J.M. Keynes criticised Irving Fisherian quantity theory of money as
Con.erid. &emev, @ el Gagfler vew sjerey Camium . G 2 6rer gnHoiiiig
elnftgand Qeliglerarmiv

(A) Realistic Assumption \A Unrealistic Assumption

o gisremwr er(Gamer o @mEInsGE LmbLimeT eThGamer
(C) Both (A) and (B) true (D) Neither (A) nor (B) true

(A) wppw (B) &h (A) Qawe (B) Qéamae

(E) Answer not known
allen Qs itlueferenan

175. Barter Economy is associated with,

LesTLomhin @wenp @umersrgHld ——— o6 Asriyenwgi.
(A) Paper money (B) Metalic money
&THS LiGnTid o Garasll LewrDd
\A Commodities (D) Bank money
QuinpL_aer @ImIGCIueTLD

(E) Answer not known
sflen Gsflweilevena

176. Gold and were the only commodity money universally,
accepted during Mercantalist period.
Quisan ey srwgdld Gur@mer Brawwinms shsIPH —— 2 @&erelld
gomé QsrereriLilLgl.
M{) Silver (B) Bronze
Qeudrafl G5 smer
(C) Copper (D) Iron
Qeuaraaid @ mby

(E) Answer not known
sflenL Gaflwsildena
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1717. describe the relationship between unemployment and

inflation.
Lemaidad womb CeamaulaimwsEh @eaLCu o der Qsmfau
aflené @S ma.
(A) Angle’s Curve (B) Larenze Curve
eremefledey euaneTGam(h myeen euenarGaEm(H
(C)y N -—M utility Curve M Phillips Curve
N - M uweun@ euemerGsn Qafllieh euamerGar(

(E) Answer not known
aflenL. Qzfweidena

178. The ;:oncept of inﬂati(;nary gap was de\.reloped by
Leweiss @ Qeuall eranin s(pHens eflendduieul

(A) J.B.Say .46)’ J. M. Keynes
J. B. Gs J. M. &eneh

(C) Kaldor (D) Samuelson
STEOLIT gmpGeudbae

(E) Answer not known
eflen. Qzsfweildeama

179. If the value of Marginal propensity to consume (MPC) is 0.75, then the
value of the multiplier is

@md e matey prLgder i 0.75 aald, Aumsdlufer wHiiy
1 (B) 2

(A)
\;d 4 (D) 10

(E) Answer not known
eflen WgMuiehledana
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180. “The fear and uncertainity of the future” is the concept of
“aflisragHear Lwb wHmD Hleaewubn s’ e smEE G bAuDETeT LGS

(A) Inflation (B) Deflation
LIeRTE1&&1D _ LIGRTEUITL_L_LD>
\K{ Liquidity preference (D) Inflationary Gap
Birenwo senann (pergnyiflento vewreiss @en Geuefl

(E) Answer not known
cflenL Qziwelildana

181. The maximum months considered for the short kitchen cycle:
GoIElL  smwwd  sen  spHSlég b  ISHGH sansHd  aHH5G

QETETaTUILIC L 6.

(A) 30 months %{40 months
30 wrgrsdr 40 wrghisdr

(C) 45 months (D) 50 months
45 wirshse 50 iprghiser

() Answer not known
eflen Ggiflwaldene

182. According to Keynes the General theory of employment, the effective
demand or employment is determined by Aggregate Demand Function
which depends on
Saneflen  smpmivy  Geueneweumiiiiyy updus Qurg GCsrium gd efeea)drer
GCoames vag GCeameaumilamu @l Hdwnss Gsame #riy Sioralsdns, @
FMiihg erer smyenilsdr

(A) Propensity to consume (B) Inducement to invest
HIST6] B L b WSS D& HTeRTHHeD
\46 Both (A) and (B) correct (D) Neither (A) nor (B)
(A) wpgio (B) &l (A) saug (B) saup

(E) Answer not known
allen GgMNwualdamen
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183. Assertion [A] : Marginal propensity to consume and multiplier are
closely interlinked.

sapmr {A] : Gndheow meTey BTLLD woHmd  QUmES  epdueel
Cpp&sLns arCnnblLmem) Geaarsslul (HETerer.

Reason [R] : Higher the marginal propensity to consume, greater
the multiplier.

sryamib [R] : Bnddfewa  mstey  priLd  SFswrse, QupsS
2FlsLrsab.

(A) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] whmb [R] @ren@n el [R] [A] @ sfiwner elerdsnn@ib

\ﬁ() Both [A] and.[R] are true but [R] is not the correct explanation
of [A]

[A] oppib [R] @rem@n e, spemma [R] [A] &@ sflurer slerssmdbe
(C) [A] 1s true but [R] is false

[A] &fl syemmed [R] seum
(D) [A] is false but [R] is true.

[A] seum < emmed [R] &

(E) Answer not known
dilenL. Gzflweildene

184. “How to pay for the war” was stated by

“GuirsE euuy QeqSsIag TaTLg —— TaTUaIHEnL SabHm.
(A) Fisher (B) Marshall
Qe LDITTGpeD
\A Keynes (D) Robertson
Setrev JITLITL_geT

(E) Answer not known
allenL Gsfluishiaene
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185

186.

. “Our present troubles are not of a monetary character” was given by
“Bog sHaTe s LanT Shwbsnner EuaL da 6rar gl wirr
\,e() Hicks (B) Keynes
afldah Seiaiy
(C) Ricardo (D) Shapiro
MesmirGLr F Gy
(E) Answer not known
efilen Qaifluelidvancy
The ratio between induced investment and an initial change in

consumption expenditure is called ) _ _
grarLOQuUDD  psolnhElh  CAeridssfld  meiegd  Oswelld  ghuiibd
wrHpsSnan G Cuiydrer allfshd ererLig

(A) Super Multiplier (B) Employment Multiplier
lenasts Gumdd CauaneveumiitiLy Qumsél
(C) Multiplier M Accelerator
QumsH wH&

(E) Answer not known
aflenL Qg flweildene
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187. According to classical theory, full employment in the labour market is

restored through

Qgmemend Garlum’ger U, iy sbagulle e BHlaop Geameeumiiy

Heperiubhss

(A) Monopolistic behaviour of labour unions
Gsrinhshstisaien phHmflean BHL ey &amsseT

(B) Government intervention
<2y sanauif)
M The manipulation of wages

Facdl Flencenul nsWIT(@EhseD

(D) The manipulation of prices
el EMET GHSLIM(EHEED

(E) Answer not known
eflen GsMuwialidena

188. The Keynesian consumption function is assumed to be
Eandlan maiey sy ——— &hgCardiaaTns Qe g).

(A) Stable in the long run

f}Gﬁirrl_ gregsned Hlenemerg

(C) Stable in the short run
@SS srosdld Hleawrang

(E) Answer not known
cllenL GAgilueldaema
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(B) Non-proportional

silflgrenynbmns)

) Allof the above

S| DTS LD



189. Demand deficiency theory is referred as
Caamau Lipprs@enm Cariur® eflerd@eug)

(A) Effective employment (B) Full employment
eflenerayerer GeuenereumiliL app Gouamevblenay
M Unemployment (D) None of the above
Gouaneulleiteno Cuwea bl ergiblédensd

(E) Answer not known
aflemt. QgfwieNdene

190. Nominal Interest rate is equal to
Quuigerey eul'lg gD TaTUS TEHHE FOWOTE @) (HdELWD

(A) Net interest rate + Inflation rate
Blay 'y eigld + Lamreiss aigib

(B) Gross interest rate + Deflation
QTES Ul lg @isld + LIGRTeUML_L LD
M Real interest rate + Expected Inflation rate
2 chrentd GULly. eisd + erdliumisdlenn vanaiss aisib

(D) Gross interest rate + Expected Inflation rate
Qnggs el eigh + erdlifuridlenn uareaiss aisib

(E) Answer not known
allenL Ggfweidane
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191. In National income concepts, which of the following is incorrectly paired?
BT eupeumenw GHLGEDL Qureg Gereumbd Geaansalld eg soupgons

2 GG ?

1. GN.P - Gross National Product
G.N.P Qurss Csdlwu 2 Husd

2, &GP - General Development project
G.D.P Qurg weaGamdps i b

3. N.N.P - National New Product
N.N.P Csflw yHw = HusH

4. N.D.P - Net Domestic Product
N.D.P P&y apr® e phussd

(A) (1) and (2) are correct, but (3) and (4) incorrect
(1) wpgid (2) efl opammed (3) wppid (4) seug)

(B) (1) alone correct, (2), (3), (4) are incorrect
(1) 06w o (), (), (4 o

(C) (2) alone correct, (1), (3), (4) are incorrect
(2) v pw &f (1), (3), (4) soup

\ﬁ (1) and (4) are correct, but (2) and (3) are incorrect

(1) wpmib (4) &, (2) LHmbd (3) LLEL s

(E) Answer not known
aflenL Qg flwelldena
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192. Macro Economics is also called as

Cuilwue Gun@merrgrmb —————— eramaybd HenpdsiuREDg).
\A Income Theory (B) Interest Theory
cu(peumil Gamr_Lim( eul_igd GamumQ

(C) Monetary Theory (D) Supply Theory
vemredwide Gamium@ ety GamlLim(

(E) Answer not known
aflen Qgileldenc

193. The term macro was first used in economist by
Guilwue ergb euniseamaerw Aummarnarysdd oiflapasuBEiuicui

.(A) Adam Smit.h A Ragner friesh
oL beviflg gr&ert 19 yei

(C) J.B. Say (D) J. S. Mill
Gen.19.Gs Gen.er6iv. 10160

(E) Answer not known
aflenL GlgMwueidena

194, Sacrifices made by the people can be converted into
wésar Cioplsrardlp HuraGw Geeunprs e @gorhoriuhidpg.

(A) Investments ) Savings
PSS HIEET Codliiyser

(C) Assets (D) Deposits
Qanggidbasear GNEULIL{GET

(E) Answer not known
eflenL Qs flueicvenay
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195. National Income differs from Net National Product at market price by
the amount of
Cesflwu eugpwrand Hlay Gsflu o Husduier Quuhs shens ellenauid 2emay ppeaibd
CoupiuRdpg) ererLig,

(A) Current transfers from the rest of the world
2 avdler ApLEdsaiadmrs sHCUTeSW LMLTHDEISEET

‘A Net Indirect Taxes
Blsr wesmps euflser
(C) National debt interest
Cadlu a6 aully
(D) It does. not differ
<15 GCeaupiu@euslerency

(E) Answer not known
cllen Gzflwelidena

196. Transfer payments refer to payments which are made
Qarhuueeseiier wHs  Blevaw  Up  wrHpL  aarug  QegsslLHD
QamRluaTe|sEmars &GmaEdng!

)  Without any exchange of goods and services
QurmLsedr wHmb Cremeusatler LflbbrHphd @demne

(B) To workers on transfer from one job to another
Qsmferearraer g Ceuameaudladl g whHEnream&e@ wrhHmri@mb

(C) As compensation to employees
senflwiisaflen @llbH

(D) Payment from employer to the employees
wpsoraillBlmhg saflursEnsE Uamd deqissisd

(E) Answer not known
alenL Gaflueidame
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197. Which of the following is not method of estimating national income?

198.

199.

Sleeumeuaraipiled erg GCalur aumomrand wHUENEDL papuda ?

(A) Product method ) Export-import method
2 pusd ¢peop appod Gna@od eop

(C) Income method (D) Expenditure method
QU(HLDAET (LPEnD GFea) apenm

(E) Answer not known
ellen Qsflwalicoena

When the national income 1s expressed in terms of current prices, it is
called

Blapare elaauian Cailwu eugporearsbams ———— er6il DPSSLIUBhEADE).
(A) National income (B) Aggregate income

BT (R GU(HLDTED L HOlLISs eimomreab
(C) Gross National income ) Nominal income

GQwrss Coflu 2 Hugd Guwigere] eu(moed

(E) Answer not known
eflen @ flwelldensy

What is the difference between Personal Income and Personal disposable
income?

satlsLT  eumpransdp@d, safpuir  GswellL s&s cumbrasShEh 2 der
AGHwTTD 61g)?

(A) Personal savings \‘{Personal Tax
geflpLi Cadlii seflpuir eurf]

(C) Personal interest (D) Personal Consumption
SefpLIT el lg S BT HI%Tey

(E) Answer not known
aflen Qg flwalldensy
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200. A has no trade in goods and services with any other nation.
@Elssema QUNRETTSTT Siennlil, Ui BiseT wHnbh ualseamear YD BrH&EREE
aUG5&LD Caieudlaeana.

(A)  Open economy #) Closed economy
Aobs Curparmsnyb epig W GleimgpemTgmyLD

(C) Mixed economy (D) Capitalistic economy
sl GummeTmgTyLd (weanallsgiel QUTEETTSITLD

(E) Answer not known
sllenL QgMwsllbena
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